Warm-Up
A culture is found to have 2000 bacteria. If the number of bacteria triples every 5 hours, How many bacteria will be present after 30

$$
\begin{array}{ll}
\text { hours? } \\
\text { Initial Amount }=2000 & V=2000(3)^{\frac{30}{5}} \\
\text { Base }^{\text {D as }} 3 & V=2000(3)^{6} \\
\text { Exponent }=\frac{x}{5} & V=2000(729) \\
& V=1458000
\end{array}
$$

$\therefore 1458000$ bacteria are present in 30 hours.
(0.1)

A comic book worth $\$ 15$ increases in value by $100 \%$ per year. How much will it be worth in 5 years?

$$
\begin{aligned}
& \text { Initial Amon } \\
& \text { Base }=1.1 \\
& \text { Exp }=5 \\
& V=?
\end{aligned}
$$

$$
\begin{aligned}
& V=(15)(1.1)^{5} \\
& V=(15)(1.61051) \\
& V=24.15
\end{aligned}
$$

In 5 years the book will be worth 24.15

## TER. O AND NEGATIVE EXPONENTS

We have been examining the exponential function $y=b^{x}$. You will notice that we have always used the natural (counting) numbers as the exponents, $x=\{1,2,3, \ldots\}$. We now look at the cases where the exponent is either zero, or a negative.

The basic rules of exponents are: $a^{5} x a^{6}=a^{5+6}=a^{11}$

$$
\begin{aligned}
& a^{5} x a^{6}=a^{5+6}=a^{11} \\
& \frac{a^{12}}{a^{5}}=a^{12-5}=a^{7} \\
& \left(a^{11}\right)^{5}=a^{5 \times 11}=a^{55}
\end{aligned} \rightarrow \frac{X^{-5}=X}{X}=\frac{1}{X}
$$

## Zero Exponents

$$
{ }^{2}\left(x^{1}\right)^{-3}=x^{-19}=\frac{1}{x^{10}}
$$

Consider: $\quad \frac{a^{4}}{a^{4}}=a^{4-4}=a^{0}$
But we know that if we divide anything by itself the answer is 1 .

$$
\frac{a^{4}}{a^{4}}=1
$$

It follows, then, that

$$
a^{0}=1
$$

## Negative Exponents

Consider: $\quad \frac{a^{2}}{a^{8}}=a^{2-8}=a^{-6}$
But: $\quad \frac{a^{2}}{a^{8}}=\frac{a \times a}{a \times a \times a \times a \times a \times a \times a \times a}$ which reduces to $\frac{1}{a^{6}}$.

It follows, then, that
and, in general

$$
\begin{aligned}
& a^{-6}=\frac{1}{a^{6}} \\
& a^{-n}=\frac{1}{a^{4}}, a \neq 0
\end{aligned}
$$

## Examples

Evaluate the following without calculators.

1. $\quad 7^{0}=1$
2. $1546^{\circ}=1$
3. $2^{0}+4^{0}-15^{0}=1+1-1=1$
4. $-8^{0}=-1$ The exponent applies to the base immediately below it. $-8^{0}$ can be thought of as $(-1)\left(8^{0}\right)=(-1)(1)=-1$.
5. $(-8)^{0}=1 \quad$ The brackets indicate the number -8 is raised to the zero power. Thus the answer is $1 .[(-1)(8)]^{0}=1$.
6. $\quad 7^{-2}=\frac{1}{7^{2}}=\frac{1}{49}$
7. $5^{-3}=\frac{1}{5^{3}}=\frac{1}{125}$
8. $\left(\frac{2}{3}\right)^{-4}=\frac{2^{-4}}{3^{-4}}=\frac{\frac{1}{2^{4}}}{\frac{1}{3^{4}}}=\frac{1}{2^{4}} x \frac{3^{4}}{1}=\frac{3^{4}}{2^{4}}=\frac{81}{16}$

That's a lot of work! Notice that we
can save some time if we realize that the result is found by taking the reciprocal of the original fraction and changing the exponent from a negative to a positive.
9. $\left(\frac{3}{5}\right)^{-2}=\left(\frac{5}{3}\right)^{2}=\frac{25}{9}$
10. $2^{-1}+3^{-1}=\frac{1}{2}+\frac{1}{3}=\frac{3}{6}+\frac{2}{6}=\frac{5}{6}$
11. $2^{-1} \times 3^{-1}=\frac{1}{2} \times \frac{1}{3}=\frac{1}{6}$
12. $\left(5 x^{-2} \mathrm{y}^{-5}\right)^{0}=1$
13. $7 x^{-4} y^{5}=\frac{7 y^{5}}{x^{4}} \quad$ Note: Only the base that is raised to the negative power is moved from the top to the bottom of the fraction. The exponent of the base 7 is 1 .
14. $\frac{120 x^{-4} y^{7} z^{-8}}{-10 x^{5} y^{-5}}=\frac{-12 y^{7} y^{5}}{x^{5} x^{4} z^{8}}=\frac{-12 y^{12}}{x^{9} z^{8}} \quad$ Note: Reduce the fraction as
always. Only the bases that are raised to negative exponents are moved, either from the numerator of the fraction to the denominator, or from the denominator to the numerator. You must then simplify the resulting expression by using the rules of exponents.

COMMON ERROR! The negative sign in front of the number 10 is not an exponent. Therefore the 10 does not move up to the numerator and become +10 !
15. $a^{-3}+b^{-5}=\frac{1}{a^{3}}+\frac{1}{b^{5}}=\frac{b^{5}+a^{3}}{a^{3} b^{5}}$
16. $(x+y)^{-2}=\frac{1}{(x+y)^{2}}=\frac{1}{x^{2}+2 x y+y^{2}} \quad$ Note: $(x+y)^{-2} \neq\left(x^{-2}+y^{-2}\right)$ !
17. $\left(a^{-3}-\mathrm{b}^{-3}\right)^{2}=\left(\frac{1}{a^{3}}-\frac{1}{b^{3}}\right)^{2}=\left(\frac{b^{3}-a^{3}}{a^{3} b^{3}}\right)^{2}=\frac{b^{6}-2 a^{3} b^{3}+a^{6}}{a^{6} b^{6}}$

$$
\text { Ex: } \begin{aligned}
& \frac{\left(-2 x^{5} y^{3}\right)\left(6 x^{-2} y^{2}\right)}{4 x^{-2} y^{4}} \\
&= \frac{-12 x^{3} y^{5}}{4 x^{-2} y^{4}} \\
&=-3 x^{5} y \\
& \text { (6) }\left(2^{-3}\right)\left(4^{-1}\right) \quad \text { (7) } 2^{-3}+4^{-1} \\
&\left(\frac{1}{2}\right)^{3}\left(\frac{1}{4}\right)^{1}\left(\frac{1}{2}\right)^{3}+\left(\frac{1}{4}\right)^{1} \\
&\left(\frac{1}{8}\right)\left(\frac{1}{4}\right) \\
& \frac{1}{32}+\frac{1}{4} \\
& \frac{1+2}{8} \\
& \frac{3}{8}
\end{aligned}
$$

